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Question Number : 1 Question Id : 36496343891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The belief that children's behaviour can be modified by reinforcers and punishers is based on the

idea that development is primarily influenced by -
Options :

1. Heredity only

2. Both heredity and environment

3. Environment only

4. Neither heredity nor environment.

Question Number : 1 Question Id : 36496343891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496343892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child can throw the ball before holding a pencil and write. Which principle of development this

situation illustrates ?
Options :

1. Cephalo caudal principle
2. Proximo-Distal principle
3. Uniformity of Pattern

4. Principle of integration

Question Number : 2 Question Id : 36496343892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496343893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Motor and cognitive development happens:
Options :

1. Till the period of childhood.

2. Till the period of adoloscence.

3. Till the period of adulthood.

4. Throughout the lifespan.

Question Number : 3 Question Id : 36496343893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496343894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a primary agency of socialisation for children ?

Options :



1. School
2. Religion
3. Family

4. Community

Question Number : 4 Question Id : 36496343894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496343895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per Jean Piaget's ideas on language and thought, which of the following statements is true?
Options :

1. Thought determines language.

2. Language determines thought.

3. Language and thoughts are independents processes.

4. Language and thoughts are innate propositions.

Question Number : 5 Question Id : 36496343895 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496343896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Two glasses hold the same amount of water yet Anu thinks that the taller glass holds more water

than the 'wider but shorter' glass. According to Jean Piaget, this reasoning of Anu is due to-
Options :

1. Centration

2. Seriation

3. Conservation

4. Maturation

Question Number : 6 Question Id : 36496343896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496343897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Reversibility - the ability to reverse actions is a basic accomplishment of which stage as given in

the Piagetian theory of Cognitive development ?
Options :

1. Sensorimotor

2. Pre operational

3. Concrete Operational

4. Formal Operational

Question Number : 7 Question Id : 36496343897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496343898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A mathematics teacher is using more skilled peers to support and guide the other students, which

theoretical frame is she trying to apply in the class ?
Options :

1. Lev Vygotsky's theory of Social constructivism

2. B.F. Skinner's operant conditioning theory
3.Jerome Bruner's theory of constructivism

4. Jean Piaget's Cognitive development theory

Question Number : 8 Question Id : 36496343898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496343899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the basis of Lev Vygotsky's views on development ?
Options :

1. Maturation and culture

2. Language and physical world

3. Language and culture

4. Language and maturation

Question Number : 9 Question Id : 36496343899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496343900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Genderis a concept.
Options:

1. Moral

2. Biological

3. Social

4. Physiological

Question Number : 10 Question Id : 36496343900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496343901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Neeta can recognize and clasify all varieties of animals, plants, metals and minerals. As per
Howard Gardner's theory of multiple intelligence, which of the following type of Intelligence is she

demonstrating ?
Options :
1. Interpersonal

2. Naturalistic



3. Linguistic

4. Intra-personal

Question Number : 11 Question Id : 36496343901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496343902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To cater to individual differences in her class a primary school teacher should -
Options :

1. make strict rules for everyone in class and punish the children who disobey her
2. focus on standardized 'paper-pencil' as the primary way of assessment.

3. have uniform curriculum and pace of learning for all.

4. provide diverse learning experiences to students.

Question Number : 12 Question Id : 36496343902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496343903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Eight year old Rohit reasons stealing is wrong because stealing behaviour can lead to his rejection

by others. As per Lawrence Kohlberg's theory of moral development, which stage is he displaying ?
Options :

1. 'Good boy'-'good girl' orientation

2. Punishment and disobedience orientation

3. Social order orientation

4. Universal ethical principles

Question Number : 13 Question Id : 36496343903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496343904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A collection of students' work on a variety of task throughout the meant for keeping a record of

their performance is known as a -
Options :

1. Rubric

2. File

3. Data sheet

4. Portfolio

Question Number : 14 Question Id : 36496343904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496343905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a progressive school, the education imparted will make the children -
Options :

1. Active explorers

2. Active followers

3. Passive followers

4. Passive explorers

Question Number : 15 Question Id : 36496343905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496343906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fluency, elaboration and flexibility are characteristics of -
Options :

1. Egocentricism

2. External motivation

3. Creativity

4. Functional fixedness

Question Number : 16 Question Id : 36496343906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496343907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusion of students with orthopedic challenges requires -
Options :

1. Standardised curriculum



2. Infrastructural Accessibility
3. Rigid attitudes of authority

4. Placement in special school

Question Number : 17 Question Id : 36496343907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496343908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Dyslexia is generally categorised as :
Options :

1. Spectrum of learning disorders

2. Mild mental retardation

3. Spectrum of psycho-social disorders

4. Common motor disability in childhood

Question Number : 18 Question Id : 36496343908 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496343909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is NOT a principle of inclusive teaching.

Options :

1. Equity

2. Segregation and labelling

3. Systematic adaptation to diversity

4. Acceptance of individual differences

Question Number : 19 Question Id : 36496343909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496343910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A)- Children belonging to the potter community learn conservation of mass earlier than

conservation of number.
Reason(R)- Learning and development takes place in a socio- cultural context.

Choose the correct option.

Options :

1. Both (A) and (R ) are true and (R ) is the corect explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. Both (A) and (R) are false

Question Number : 20 Question Id : 36496343910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496343911 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When students learn a behaviour through observation, the first step of that process is that they

must -

Options :

1. remember the actions of the model
2. pay attention to the model

3. assessment of their acts of imitation

4. repeat and practice the behaviour of the model

Question Number : 21 Question Id : 36496343911 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496343912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Understanding the errors made by learners is important for a teacher as -
Options :

1. she can identify 'weak' and 'bright' learners

2. she can understand the learners' thought process

3. she can inform parents about the learner's carelessness

4. she can segregate and rank the learners

Question Number : 22 Question Id : 36496343912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496343913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 states that learning should be-
Options :

1. Content oriented

2. Textbook centric

3. Experiential

4. Behavioristic

Question Number : 23 Question Id : 36496343913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496343914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tanvi practices deep breathing just before the onset of examination. She is using strategy

to cope with anxiety.



Options :

1. Problem solving

2. Emotion management
3. Avoidance

4. Denial

Question Number : 24 Question Id : 36496343914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496343915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During the lockdown due to COVID-19 pandemic, Rohini likes to read the story books her elder

sister had without any promting from anybody. Rohini is a -
Options :

1. Competitive learner

2. Intrinsically motivated learner

3. Performance-oriented learner



4. Extrinsically motivated learner

Question Number : 25 Question Id : 36496343915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496343916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Alternate conceptions and misconceptions hold by children represent :
Options :

1. Inability to learn

2. Intuitive ideas about particular concept

3. Baseless assertions

4. Permanent conceptional stagnation

Question Number : 26 Question Id : 36496343916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

= ™ = - - - = -, * "
F==1 I U1ET Ao oUsh Hhea=T ST WiiaaT 397 E37T 29

Options :

| SATERTH 7=t
, TR Teg % o ° T foew

5 fFrmam =

4. TUTHT HeheqTeTeh 38419

Question Number : 27 Question Id : 36496343917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following pedagogical strategies are effective in a primary classroom ?
(i) Use of concept maps

(i) Moving from abstract to concrete concept

(iii) Provisioning for diverse materials

(iv) Use of stories and anecdotes
Options :

1. (i) (i) (i)

2. (i) (iii) (iv)

3. (i) (iii) (iv)

4. (i) (ii) (iii) (iv)

Question Number : 27 Question Id : 36496343917 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
. (Q). (i), (iii)

, (D), (i), (iv)
. (i), (i), (iv)

5. (1), (i), (iii), (iv)

Question Number : 28 Question Id : 36496343918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A primary teacher asks her students to write all the information at least five times in their

notebook. The technique would be -

Options:

1. highly effective since rehearsal and repetition helps significantly in meaningful learning of
content.

2. effective since repetition of any information less than five times leads to immediate forgetting.
3. ineffective since more rehearsal is not a suitable technique for meaningful learning.

4. ineffective since rehearsal is a complex method of meaningful learning.

Question Number : 28 Question Id : 36496343918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496343919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are effective problem solving strategies?
(i) Algorithms

(ii) Heuristics

(iii)Trial and error without comprehension

(iv) Functional fixedness
Options :

1. (i), (iv)

2. (i), (ii)

3. (i), (iii)

4. (iii), (iv)



Question Number : 29 Question Id : 36496343919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 (1), (1v)
5, (1), (11)
5. (11), (1ii)

4. (i), (iv)

Question Number : 30 Question Id : 36496343920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of these activities is NOT effective for making use of the previous knowledge of

children for further learning ?
Options :

1. Rote memorization

2. Brainstorming

3. Schema activation

4. Concept mapping



Question Number : 30 Question Id : 36496343920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Clear Response: ves
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Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 36496343921 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teacher gives tokens to 10 students and asked them to arrange them in rectangular form. Murad observed that if the
number of tokens is 4, 9 and 16 he can form squares but if the number of tokensis 2, 3,5, 6,7, 8, 10, 11, 12, 13, 14,
and 15 he cannot form square. This activity DOES NOT help him in understanding about

Options :

1. Volume of each of the token

o5 Area of squares
3. Factors of numbers up to 16

4. Perfect squares

Question Number : 31 Question Id : 36496343921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 36496343922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the product of the given numbers 0.54 x 0.01 x 0.4

Options :
1. 2.16

> 0.216
3. 0.0216

4 0.00216

Question Number : 32 Question Id : 36496343922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
0.54x0.01x0.4

Options :

1. 2.16

5 0.216
3. 0.0216

4. 0.00216

Question Number : 33 Question Id : 36496343923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

How many packets ofé kg sugar can be made from two packets of sugar containing 2% kg and 3& kg amount of
sugars?

Options :
1. 52

2. 48

4, 36

Question Number : 33 Question Id : 36496343923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

7. 32

2. 48

3, 04

4, 36

Question Number : 34 Question Id : 36496343924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers are not perfect squares?



Options :
1. 625

5> 169
3. 225

4 222

Question Number : 34 Question Id : 36496343924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FrTeIRaa = | i I §@aTs qu & T8 87
Options:

1. 625

5 169

Question Number : 35 Question Id : 36496343925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sum of two digits of a 2 digit number is 12. If 3 times of the sum is subtracted from the number, digit are reversed.
The number is.

Options :
1. 57



3. 84

Question Number : 35 Question Id : 36496343925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 37

Question Number : 36 Question Id : 36496343926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sum of remainders obtained on dividing 24879 by 27 and 367842 by 23, is divided by 4. The remainder on dividing
by 4 will be?

Options :
1.1



Question Number : 36 Question Id : 36496343926 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

[

Question Number : 37 Question Id : 36496343927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Product of two numbers has four zeroes on it's right places. If one of the numbers has exactly two zeroes on its
extreme right , the other number of zeroes on the extreme right of the other number is:

Options:
1. maximum one

2. maximum two

3 exactly one



4 exactly two

Question Number : 37 Question Id : 36496343927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.

, FTeEFaT &

Question Number : 38 Question Id : 36496343928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A stadium in Patna has only 800 meters track for running. If you run a marathon of 20km on a stadium track, how
many rounds you will have to complete?

Options :
1. 20

2. 16



Question Number : 38 Question Id : 36496343928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
7. 20

2. 16

3. 40

»
[~
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Question Number : 39 Question Id : 36496343929 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the total number of lines of symmetries and rotational symmetry of a rectangle which cannot be square
Options :

1. 4



Question Number : 39 Question Id : 36496343929 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
UE ATIE, ST T €, F Fe bl (R AR AR FHEA gl 82

Options:
1.4

Question Number : 40 Question Id : 36496343930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following instrument/activity cannot be used for verifying whether two angles are equal or not
Options :

1. A rectangular strip fixed at one edge of a fixed rectangular strip and can be moved freely

2. Protractor

3. Ruler

4. Cutout of one angle (sector) and overlap it with the other

Question Number : 40 Question Id : 36496343930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 36496343931 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Karuna checked four fields Field A, Field B, Field C and Field D of the dimensions 20 m x 30 m, 23m X 27m, 24m % 26m
and 25m % 25m respectively. Which field she needs to buy to plant maximum number of trees?

Options :
1. Field A
2. Field B

3. Field C

4 FieldD

Question Number : 41 Question Id : 36496343931 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 42 Question Id : 36496343932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On the map of India, the distance between Delhi to Shimla is 2.5¢cm, Delhi to Dehradun is 1.5¢cm, the distance between
Shimla to Mumbai is 4.5cm, Shimla to Dehradun is 2 cm. 1 cm on the map shows 250km on the ground, Hiya has to
travel Dehradun to Mumbai via Shimla. How much distance she will have to travel?

Options :
1. 1125km
2. 1725km

3. 500km

4. 1625km

Question Number : 42 Question Id : 36496343932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1 1125 f

5 1725 TR,

Question Number : 43 Question Id : 36496343933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student’s school is at a distance of 5km from the students house. If the student walks at 07:45 am , with the speed
100 meter/minute, then at what time the student will reach to the school -

Options :
1. at 8:30 am
2. at 8:25 am

3, at&:35am

4. at 8:45am

Question Number : 43 Question Id : 36496343933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 44 Question Id : 36496343934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the value of
-2+4-6+8-10+12 — - +1007

Options :
1. 50

5> 100

Question Number : 44 Question Id : 36496343934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
B I |y +100 =T T 4T 27

Options :
0

Lh

1.

5 100

Question Number : 45 Question Id : 36496343935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meeta wants to collect only X 2 coins. Her mother gave her an old piggy bank and asked her to exchange all money to
get X2 coins. When she opened the piggy bank she found 2 notes of X 100, 3 notes of X 20, 10 notes of X 10, 50 coins
0f X5, 77 coins of X 1 and 98 coins of X 0.50 paise. How many X 2 coins she can get in exchange of this money?

Options :
1. 736
2. 368

3 638

4. 386

Question Number : 45 Question Id : 36496343935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 136

5 368
3 638

4 386

Question Number : 46 Question Id : 36496343936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A class Il mathematics teacher gave the following questions to her students:

256 28 129
+17 3 +3 2 + 7 6

Later she asks the students to solve a worksheet which has similar questions.
Which of the following statements is appropriate for the given situation?

Options :
1. The tasks is based on drill and practice and should be discouraged at primary level
L is an example of open ended task

3 It is an example of contextual question

4 Teacher should have asked the students to solve ten more such questions as a home task to save the time



Question Number : 46 Question Id : 36496343936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 36496343937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by “learning by doing” in the context of mathematics?
Options :
1 Learning the concept in mathematics by doing meaningful, hands-on activities related to the concept

o Doing the question multiple times till the procedures are rote memorized.

3. Learning the concepts by doing the textbook questions



4 Learn to solve the problem on your own.

Question Number : 47 Question Id : 36496343937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 48 Question Id : 36496343938 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The concept of ‘Data handling’ in a classroom includes:

(a) Representation of data
(b) Analysis of data

(c) Collection of data

(d) Storage of data

Choose the correct option
Options :
1. (a) and (d)



5 (a), (b) and (c)

3. (b)and (d)

4. (a) and (d)

Question Number : 48 Question Id : 36496343938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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2.
3 bard

4. E’iaﬁTd

Question Number : 49 Question Id : 36496343939 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National curriculum Framework (2005), ‘Technology can aid the process of Mathematical Exploration and
can help engage students’ hence



Options :

1. use of calculators should be allowed in all the school examinations

2. paper-pencil algorithms should be abolished

3 technology can be used to facilitate the teaching — learning of abstract concepts in mathematics

4. blackboards should be replaced by smart boards in classrooms

Question Number : 49 Question Id : 36496343939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T4 WA T (2003) % ST “Tent VTS oo § R o W & S g o1 Weret ()
0 5 T 21 e 2
Options :

1 FAFIET o IUANT Al TN TalTerd i FHT WIS H T =)

5 YU UTH 31 A 1aTeT 3! THTH 34 297 J1120)

; CETIETR R R G R anﬁmwaﬁ%%m m#@mﬁﬁ%wmmmﬁ

4, T T TATHUE] Fl L AE | F&A &A1 =)

Question Number : 50 Question Id : 36496343940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘BalLA’ concept which is an initiative supported by UNICEF is :-

Options :



1. Books as Learning Aid
2. Building as Learning Aid
3. Bulletin board as Learning Aid

4. Blackboard as Learning Aid

Question Number : 50 Question Id : 36496343940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496343941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Recognition of patterns and their completion’ is an essential part of mathematics curriculum at primary level as it
Options :

1 Develops creativity and artistic attributes in students



o Prepares students to engage with higher mathematics
3 Help students in solving mathematical puzzles

4. Promotes creafivity amongst students and helps them to understand the properties of numbers and operations

Question Number : 51 Question Id : 36496343941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 52 Question Id : 36496343942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For assessment in class [, a mathematics teacher creates a record of progress of the students using the following
parameters: - conceptual understanding, mathematical reasoning, atfitude towards mathematics, solving new
problems, finding multiple ways to solve the problems. The data from this type of assessment is least useful for -
Options :

1. Providing feedback to the student and developing need-based teaching plans



2 Rank the students according to their scores

3 Understanding the questions that are answered incorrectly by the students

4. Understanding the attitude of the students

Question Number : 52 Question Id : 36496343942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 36496343943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child says % s less than 1/3 because 2 is less than 3. Which of the following technique would be least helpful for the
child to clear his misconception?

Options:

Lecturing him that in fractions, bigger number in the denominator of the fraction means the value of the fraction is
1. small



2. Helping him visualise the two fractions by using real life objects
3. Taking help of paper folding in different examples and comparing the fractions

4 Giving the pictorial representation of the two fractions

Question Number : 53 Question Id : 36496343943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496343944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Meaning of the word ‘Heurisco’ is
Options :

1. To know



2. To Think
3. To Learn

4. To Discover

Question Number : 54 Question Id : 36496343944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496343945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Jenny, a class |l teacher asked her students ‘If you have 3 tens and you have to take away 3 units from it, which
number do you get?’
One of her students responded “It is zero.” To rectify the error, Ms. Jenny should first focus on :

Options :

1 Providing more similar problems to practice

5 Stre ngthening the operation of addition first and then move to subtraction



3. Strengthening the concept of place value by providing hands- on experiences

4. Teaching only the standard algorithm of subtraction

Question Number : 55 Question Id : 36496343945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 36496343946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a skill of measuring time?
Options:

1. Reading time on a clock

2. Finding duration of an event



3 Establishing relationship between different units of measuring time

4. Estimation of position of stars at night

Question Number : 56 Question Id : 36496343946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496343947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Manipulatives or models, static pictures, written symbols, spoken and written language, real world situations or
contexts are five ways to represent

Options :

1. mathematical ideas

2 geometrical proof



3. mathematics curriculum

4. Mathematical vocabulary

Question Number : 57 Question Id : 36496343947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496343948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Solving mathematical puzzles at primary level helps in:
Options :
1. Identifying brilliant students in the class

2. Providing fun to the students

3. Promoting problem solving skills



4. Unlearning problem solving skills

Question Number : 58 Question Id : 36496343948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 59 Question Id : 36496343949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Van Hiele's theory of Geometric Reasoning which of the following is an example of Analysis level?
Options :

1. Seema knows that an Isosceles triangle has two equal sides two equal angles
5 Seema identifies a shape as triangle which is closed by three straight lines

3. Seema knows that an lsosceles triangle is symmetric, so its base angles must be equal

4. Seema recognizes that all Isosceles triangles are triangles, but not all triangles are Isosceles triangles



Question Number : 59 Question Id : 36496343949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496343950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is indicative of Gender Bias in mathematics learning in a classroom?
Options :

1. It is important to have references to achievements of women mathematicians in math textbooks
2 Girls and boys should be given equal opportunities to learn mathematics

3. Both boys and girls should set equal opportunity for higher education in mathematics

4. Boys mathematical success is attributed to their abilities and girls success to their efforts



Question Number : 60 Question Id : 36496343950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 36496343951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of the scientist who did experiments with the pea plants and on the basis of observation
concluded that the pea plants have some traits which come in pairs; such as tall or short, yellow or

green, rough or smooth etc.is
Options:

1. Charles Darwin

2. Gregor Mendal

3. George Mestral

4. M. S. Swaminathan

Question Number : 61 Question Id : 36496343951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 62 Question Id : 36496343952 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the one which is different from the others;

Lake, Mountains, Pond, River, Spring
Options :

1. Lake

2. Mountain

3. Pond

4. Spring

Question Number : 62 Question Id : 36496343952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options :

), S

Question Number : 63 Question Id : 36496343953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is different from the other four mode of transport;



Train, Bus, Ship, Tonga, Bicycle, Rickshaw
Options:

1. Ship

2. Bus

3. Tonga

4. Bicycle rickshaw

Question Number : 63 Question Id : 36496343953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496343954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Karnataka the implement used by the farmer to dig the soil so as to loose and make it soft is

known as-
Options :
1.illige

2. kurige
3. khunti



4. khurpi

Question Number : 64 Question Id : 36496343954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 65 Question Id : 36496343955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the term of column I and II:



[ (Organism) II (Characteristic feature)

A) Owl (1) Birds that can see four times as
far as we can.
B) Silk worm (i1) Spends almost 17 hours a day

sleeping while hanging upside
down on a tree branch.

C) Eagle (i11) Bird having eyes on either
side of the head.
D) Sloth (iv) To find its female from many

kilometres away by her smell.

Options:

1. A-iii, B-i, C-iv, D-ii
2. A-i, B-iv, C-iii, D-ii
3. A-iii, B-iv, C-i, D-ii

4. A-iii, B-ii, C-i, D-iv

Question Number : 65 Question Id : 36496343955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. A-11T1 B-1 C-IV D-II

2 A-1 B-1V C-III D-II

3. A-IIl B-IV C-1 D-II

4 A-IIIB-II C-I, DIV

Question Number : 66 Question Id : 36496343956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following was brought to our country by the traders coming from South America?
Options :

1. Cabbage

2. Tomato

3. Pea

4. Bhindi

Question Number : 66 Question Id : 36496343956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496343957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A car starts from a city X at 7:30 hours and reaches city Y at 22:30. If the distance between the two

cities is 540 kilometers, the average speed of the car is-
Options :
1.36 m/s
2.24 m/s
3.20m/s

4.10 m/s

Question Number : 67 Question Id : 36496343957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 36 HI.

Question Number : 68 Question Id : 36496343958 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about honeybees:
A) Every beehive has one queen bee that lays eggs.
B) There are only a few male bees in the hive.

C) Male bees are very important for the hives.

D) Most of the bees in the hive are worker bees.

E) The male bees collect nectar from flowers.

The correct statements are:
Options :

1.A,BandE

2.A,Band D
3.A,B,CandE

4.A,C,DandE

Question Number : 68 Question Id : 36496343958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496343959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A group of three Indian states having coasts on the Arabian Sea are-
Options :

1. Kerala, Karnataka, Maharashtra

2. Gujarat, Maharashtra, Tamil Nadu

3. Andhra Pradesh, Kerala, Karnataka

4. Gujarat, Maharashtra, West Bengal

Question Number : 69 Question Id : 36496343959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496343960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following states/ union territory of our country, the land of the forests for farming

belongs to the whole village not to the separate people?
Options:

1. Ladakh

2. Pudduchery

3. Mizoram

4. Chhatisgarh

Question Number : 70 Question Id : 36496343960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496343961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The main crop of Jharkhand is
Options :

1. wheat

2. peanut

3. corn

4. rice

Question Number : 71 Question Id : 36496343961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 72 Question Id : 36496343962 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following, the reasons of considering the earthworms as the friends of the

farmers:



A) Earthworms soften the soil of the field in which they live by digging the soil underneath.
B) The tunnels digged by earthworms provide easy passage for air and water into the soil.
C) The earthworms eat the weeds and save the main crop.

D) The earthworms eat the dead leaves and plants. The dropping of the earthworms make the soil

more fertile.

The correct statements are-
Options :

1.A,Band C

2.B,Cand D

3.C,Dand A

4. A,Band D

Question Number : 72 Question Id : 36496343962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496343963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Madhubani is a a very old form of folk art. During festivals and happy occasions Madhubani
paintings are made in the courtyards and walls of the houses of Madhubani which is well known

district of one of the states of India named-
Options:

1. Uttar Pradesh

2. Uttrakhand

3. West Bengal

4. Bihar

Question Number : 73 Question Id : 36496343963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496343964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

A) People of Maharashtra love to eat pakoras made of sahjan flowers.

B) In Jammu and Kashmir people like to eat vegetables made of banana flowers.
C) In Uttar Pradesh people enjoy eating a vegetable made of kachnar flowers.

The correct statement(s) is/are:
Options :

1.only B

2.only C

3.Aand B

4. Aand C

Question Number : 74 Question Id : 36496343964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496343965 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This is a place in Uttarakhand and is also an important tourist destination. The park is associated

with conservation of Tiger. Identify the place.
Options :

1. Buxa Park

2. Dudhwa Park

3. Corbett Park

4. Valmiki Park

Question Number : 75 Question Id : 36496343965 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496343966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following objective of teaching EVS shows the concern of education for sustainable

development.

Options :

1. To critically address the concern of equality, justice, peace and respect for human dignity and
rights.

2. To develop the technological and quantitative skills.

3. To engage the child in exploratory activities.

4. To emphasise design and fabrication skills.

Question Number : 76 Question Id : 36496343966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496343967 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The themes of EVS at primary level are connected and inter-related because of
Options:

1. Integrated nature of EVS.

2. Disciplinary nature of EVS.

3. Single subject nature of EVS.

4. Topic based nature of EVS.

Question Number : 77 Question Id : 36496343967 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496343968 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Child centred nature of EVS is because of

Options :

1. its focus on learning through experience.

2. the teaching of concepts and issues related to the EVS.

3. transformation of behaviour of the student in a desired way.



4. the development of socio-emotional skills of the students.

Question Number : 78 Question Id : 36496343968 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496343969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a subtheme of the syllabus of EVS?
Options :

1. Food

2. Water

3. Shelter

4. Relationships

Question Number : 79 Question Id : 36496343969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496343970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pochampalli' chapter 23 of NCERT EVS is based on
Options :

1. real places

2. real incidents

3. real people and their experiences

4. real picture

Question Number : 80 Question Id : 36496343970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496343971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following suggested activity/activities will be suitable for addressing the question

from the theme 'Food' "Who produces the food we eat?"

A) Sharing of farmers narratives.

B) Visit and observation on a farm.

C) Experiment to know the condition suitable for germination.

D) Keeping some bread or other food for few days.
Options :

1.A, B, C

2.A,B,Cand D

3.B,Cand D

4. A, CandD

Question Number : 81 Question Id : 36496343971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496343972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For authentic and meaningful learning of EVS through field trip a teacher can use:
A) Structured worksheet

B) Unstructured worksheet

C) Formal instructions for the visit

D) Creating group of the students and their leader
Options :
1.A,C,D
2.B,C,D

3.Aand D only



4.B and D only

Question Number : 82 Question Id : 36496343972 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496343973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The purpose of giving Mendel's story through the chapter 21 of class 5, "like father, like daughter"
in the EVS textbook of NCERT is to:

A)give the principles of genetics.
B)focus on how our identity is shaped by traits we inherit from our family.

C) inspiring students by the process of scientific experimentation.



D) focus on the perseverance character of the scientists.
Options :

1.A,B, C

2.B,Cand D

3.A,Cand D

4. A and D only

Question Number : 83 Question Id : 36496343973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS AE, T 5 3T U0 o AT  HVS i FE & 1 v €
A. Gﬂgcaitr-%tmdr F e S B
B. FT ST eI fort SeB TG T 9T 10 & &l 2, 3! st el

C. SR ST 3 T3t AT Tt 70 e
D. SR 3 T Uivars i fareTeat Bt s et
Options :
, A,B,3RC
, B,C#RD
5 A, C3RD

4 FIA A FRD

Question Number : 84 Question Id : 36496343974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the technique of formative assessment-



Options :

1. Peer assessment
2. Rating scale

3. Portfolio

4. Assignments

Question Number : 84 Question Id : 36496343974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496343975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following tool is based on the technique of observation?
Options :

1. Paper pencil test

2. Assignment

3. Worksheet

4. Portfolio



Question Number : 85 Question Id : 36496343975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496343976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following process indicators can be used for assessment in EVS to record how

students are learning?
Options :

1. Discussion

2. Remember

3. Recall

4, State

Question Number : 86 Question Id : 36496343976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. o famst
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Question Number : 87 Question Id : 36496343977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is easy for a teacher in EVS classroom?
Options:

1. Give information to students

2. Addressing students' ideas

3. Providing opportunities to students for learning

4. Engaging students

Question Number : 87 Question Id : 36496343977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496343978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the effective resource for the learning of EVS?
Options :

1. Narratives

2. Worksheets

3. Models

4. Charts

Question Number : 88 Question Id : 36496343978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 89 Question Id : 36496343979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which one of the following will be liked by the students in EVS class?
Options:

1. Arts and crafts

2. Individual work

3. Assessment of home work

4. Black board summary of the lesson

Question Number : 89 Question Id : 36496343979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496343980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In an EVS class, students get opportunities to-
Options:

1. ask questions

2. learn definitions

3. state concepts



4. give descriptions

Question Number : 90 Question Id : 36496343980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes

Question Id : 36496343981 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 36496343982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496343983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 93 Question Id : 36496343984 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496343985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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AT (@ Tehe T TaafEe iz e
1, faomst Bomsf
2, SR oM
3. AeFS sl
4, TSt
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496343986 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AR FEE S 4299 o[ e e gEE
L om
2, 59N
3. sfgsll
4, T

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496343987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
2. e A
3, ST R
4, TgEE HE
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496343988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



"qsigE! EETEaEE SUEiE SIEEnniE (oee Tl "
- Tge TSR @HIeFe THTE (30 —

1, Faiel ferare Turgad
2, T T wrae
4, SerEre TEE Twese

Options :

1.1

2.2

3.3

4.4

Question Number : 98 Question Id : 36496343989 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
27

1. IGFAR e

2, TEARDG e

3, FRLE sivg

4, 9% TE=ET She
Options :
1.1
2.2
3.3

4.4

Question Number : 99 Question Id : 36496343990 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



fre @l 3 3 @iees Trgme R vw e
1, T (A TGS HICw Bl g e
3, THF (FE99 TR © [Fh b6 quEEs a9

i 1
4, TF (FEI9 GAGE SSCLEAE AT = A b
Options:
1.1
2.2
3.3
4.4

Question Id : 36496343981 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



T FEATG TCHCEGSTE HO =i SigE = e et enE
HGIROLFE TF SUIL NFEoTIRT Srew=S M=o =i 1

THEE ST ASAE wHems Seatoe =iy Aien cFEre et
gf# sient =fEoere T offfafas Ifcamts ore =Hos 92 =
Tyarse wfaa = =G| HoeEts Siners witaeHeeE =e aEard
SrErgS =9 S99z S=EEs Jiemuias o wiawEiae 2 =R
TSCAAEN FAACRS, A SETE SWIEEY (IR @3 "wE=SH
HHEST SIEieaT RLEN I =5y ateerg Ia99 TS QsiF,
Rraa=gEs araE =6 coes THIEE A= I =i
A WfEre 2Wre =R =Wen| FATES TG99 ABT CAFEE | 9 FF9A1
wiferate SrscStat arraas A= e oafEs S site iz (s
¢t =t o frenfaBm) searza #ir #itfq) Iorarmen e et

S| G TEE ArEA-T [2e[=F <4 GregE FEew geEs sEEmaeg
TR TS WE-CEIET SRS (AT Jiew Sem ehfSwaca [mw (gt

&%) enfesassia tzfeeT =2 I 2t g6 FEEE IS A

ST eSS (@ TH | TEAG (73 SIS FentveS IS,
T 2T LA SHCATTE =Wiia=S qeae TIesrH= (A=,
FEraAE 99912 (S coren, SEnfearE S, SenthaiEn gat =i
coTaIfaT Fborem «fd =@=a yugors g =19 e &l &
SIET FE-A°F TEE SACTE Hers Feqrwe i Sftad a0 s | =i
=t =Rl a3 FeerwREne wrraad wivrs aft Sesmem FwemifErs
TET| AHA FlA Toad pee 4T FEnvied YT = aEiveiE
Tt T @ Gt R e

AT ArTEET Ffew T (2ra v Seteem) Ia9a91 St
S'FIZ W3 T (FI99T U Brewe pifEawiE (FEwe Sifere
sifsrenfe) coitar @ G2 g9 ToeETe Ferie Slewiss aeiies el
Hifgs witre afem zsess ayeiySoes <= 057 715 S [EE
T Toos =frcStar s FArE Srecenst wate wersEEie
TRrguE sihe, T9 SEaE, FEArn | sihetaraT qeety 2| @
TETTHBE= <1'=12 =ity cuims =ife1| @2 cuiv= =ifer =ears et
sty Heze Traces carmmess == aoarat LafeeT|  OF oo =nfEca e
cstrerars At e fagm '@ ssgaw A4S, A ceaEt
FRFEA Lo =ifeca Sretes ~gfe IE = =@ne| It (FuEs
e =15, = <{FT, I=-S=se=ET a9egS =iee SrETaieiy
SETAETE Wit fir<rs o< SfocafsE duas geftme T 9939, =%
FrEee =i = [ FenemEiece SaEm-as=ms, TA=G =iirs
catféres =1EA =few = ==

TEHE (FIeE WS (HEE HEl Trered Touies Dliaﬁ-ﬁﬁﬁl'@
HSTHA AT FAS =W g TECNTSS =ew adws Bt =
W) wfrge =ifes aee i =i Qe 5 159 297 33E
iz *FEre a3 e Srere S =SB (AEE TiE el i
BifE ottt = shaerE FIRAE ACA | HAFTSCS ST ArrE
=EEiae Qa2EE )

Sub questions

Question Number : 91 Question Id : 36496343982 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



"FEE] SIE" ANGE TS AL AeTH TF —
1, *WYE e

2, IFoFT 9991
3, (@I T4
4, T (@99
Options :

1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496343983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

foEre Bretrane AessE weE Sfew At Teeel -
1. TEEES FRE2TE 92
7. qEEEET 952 998 AT =@ieE |
4, THEAETS TH2 (@I FEC Lo

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496343984 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1, 2919
2, FIECEE
3, SIRE
4, wwE FE

Options:

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 36496343985 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"I ANAEL 2T TEE CwRae (AR - TF
IFHIET @ T F SR 2 |ng?
1, fawmt Toprst
2, SR Bt
3, HFE et
4, =S
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496343986 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AR FEE S 4299 o[ e e gEE
L om
2, 59N
3. sfgsll
4, T

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496343987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
2. e A
3, ST R
4, TgEE HE
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496343988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



"qsigE! EETEaEE SUEiE SIEEnniE (oee Tl "
- Tge TSR @HIeFe THTE (30 —

1, Faiel ferare Turgad
2, T T wrae
4, SerEre TEE Twese

Options :

1.1

2.2

3.3

4.4

Question Number : 98 Question Id : 36496343989 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
27

1. IGFAR e

2, TEARDG e

3, FRLE sivg

4, 9% TE=ET She
Options :
1.1
2.2
3.3

4.4

Question Number : 99 Question Id : 36496343990 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



3, Wﬁﬁaﬁ TUEELE © FR: L5 IEEEs A9

A |

4, TF (FEI9 GAGE SSCLEAE AT = A b
Options:
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 3649632570
Question Shuffling Allowed : Yes

Question Id : 36496343991 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



were Tl Swiiee SEAErstE o6 o e raEsE ShRelE
wa Tedls! Fegeize wemear e =11

@i I T W& @H
[ifsEr 79w &

e FEF TS T
et &fas =

sjsie fep=ter wog e Ee
T Lo GrEeiet

REUE RS e Sros
LT Y FAHT

o T @ SCEET Bt
fa=fire o=
sl fafer s

T ToE T T

IS O T e

=t B = *[Frs FfEE
o e & G T

=TT FAE I I
T R S |

S ATSE oifesT
whI2e SIF LT

TS EE-58 HEDG =W
CaE FIEAF AT

=T o R G EE ()
Ffaes 3=l FAA N

sfferata 7 Twa &fom
t@mﬁfﬂﬂfﬁ'ﬁn

TS TETHIC T TRl Lo
*qre ZEE T

Bifs o129 5ifF F 1= AT
ool S ATET |

T OIS T BifF T
=i BIE ===

Sub questions

Question Number : 100 Question Id : 36496343992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tosler =g fofaTe S *wibl (e -
T

(T

EEIRIED

[T R L R

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496343993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
“sisfe] Terial w5z LTF TE 9 S $ gER
Yfem=?
1, SIETI%e w5 (29 WS *[<Eg0r HWe e e
2, SRR HTEHE (2 O s AEwE @
3. feEa A T @F IF WL A= @
4, 5o S ol AT YE e e A8 (@ [@IEl

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496343994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FTHA WTR AAEE GO *% {20k -
1, “&-%Is
2, S
3, FI9E
4, &=
Options :
1.1
2.2
3.3

4.4

Question Number : 103 Question Id : 36496343995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- 3 WIS OEE (e O 2 T w37

1. AT M = FECE
2, TS FHI2 TRz |
3, SFE*re oS A |
4, Teom ey 7 O 2 g 40
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496343996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FE9 A0S 9 FA L2wws F SR
2, Fﬁ*ﬂﬁ’[ﬁi@?@ CHEITE |
3, TIFR (T4 79 FEE |
4, AR T ST 7R FHE |
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496343997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘RO FA AZ FAFET — A2 IS (LTS #AH]
(E-
4, FEste fammr
Options :
1.1
2.2
3.3

4.4

Question Id : 36496343991 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



were Tl Swiiee SEAErstE o6 o e raEsE ShRelE
wa Tedls! Fegeize wemear e =11

@i I T W& @H
[ifsEr 79w &

e FEF TS T
et &fas =

sjsie fep=ter wog e Ee
T Lo GrEeiet

REUE RS e Sros
LT Y FAHT

o T @ SCEET Bt
fa=fire o=
sl fafer s

T ToE T T

IS O T e

=t B = *[Frs FfEE
o e & G T

=TT FAE I I
T R S |

S ATSE oifesT
whI2e SIF LT

TS EE-58 HEDG =W
CaE FIEAF AT

=T o R G EE ()
Ffaes 3=l FAA N

sfferata 7 Twa &fom
t@mﬁfﬂﬂfﬁ'ﬁn

TS TETHIC T TRl Lo
*qre ZEE T

Bifs o129 5ifF F 1= AT
ool S ATET |

T OIS T BifF T
=i BIE ===

Sub questions

Question Number : 100 Question Id : 36496343992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tosler =g fofaTe S *wibl (e -
T

(T

EEIRIED

[T R L R

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496343993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
“sisfe] Terial w5z LTF TE 9 S $ gER
Yfem=?
1, SIETI%e w5 (29 WS *[<Eg0r HWe e e
2, SRR HTEHE (2 O s AEwE @
3. feEa A T @F IF WL A= @
4, 5o S ol AT YE e e A8 (@ [@IEl

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496343994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FTHA WTR AAEE GO *% {20k -
1, “&-%Is
2, S
3, FI9E
4, &=
Options :
1.1
2.2
3.3

4.4

Question Number : 103 Question Id : 36496343995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- 3 WIS OEE (e O 2 T w37

1. AT M = FECE
2, TS FHI2 TRz |
3, SFE*re oS A |
4, Teom ey 7 O 2 g 40
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496343996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FE9 A0S 9 FA L2wws F SR
2, Fﬁ*ﬂﬁ’[ﬁi@?@ CHEITE |
3, TIFR (T4 79 FEE |
4, AR T ST 7R FHE |
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496343997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘RO FA AZ FAFET — A2 IS (LTS #AH]
(E-
4, FEste fammr
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 3649632571

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496343998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

e afoq wrger oo i g5 w79 #if=?
1, =E =r2Ee
3,
4,

& HAZe
s / wemere o e
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 36496343998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e afoq wrger oo i g5 w79 #if=?

1, & =2Ee
3,
4,

TE FHEEF
s/ wesre o e
Options:
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496343999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T A2fE TIF AYET -
3, YRle W AAS TeAT

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496343999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TE-FEaR YT TS99 WYEE -
3, YAE O 7S TeAw

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496344000 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ey (24 TR TR U, G @, O, TG, e iy e % e 94 fogw a
OTR ATATO €& *FAT T <07 | 42 R (06 T ¥ G 9| e (96 pemdenne
T R 3 T S (OGRS 7 @R (R < | e (0 emdree e e
IR R TR (@ RO 37 <9, (I g | 3 et T g g i

1, el Taree) (e

), Tasel (e3¢l (consciousness raising)

3, Taerel e

1, Teeer e
Options:
1.1
2.2
3.3

4.4

Question Number : 108 Question Id : 36496344000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e (2% TEETEE R U G @, T, TG, e i fifem 4 9w 94 fegww 4
R IRTAR 4R *FR T FI0A A| 4R ¥RE (96 T ¥ I | P (o€ mm e
I g 9 TR TS (DA TR 7 ({17 (R 47 Al | e (9€ Fermdee R e
IR R R @ Rt I, 07 R | @@ e [ g e AR

1, R4 ) e

), EIeTel (214999 (consciousness raising)

3, farael e

4, feielen ged
Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 36496344001 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

O (TG AE S HRIAE ANE G5 44 (@ I T =7
1, IS SET

4, ETE TS
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496344001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
OE (PO HEOCE HRNTE WEE G 4 (@ g e w0
1, IS S

4, O AT
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496344002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



qoOETE! (303 —
1, T2mme wEE frw e o
2, (T WG / G4 O e

3. MFSAE =<E (2 TwETe foa fon oEE e
4, TYORIE TFE (2 FTe 2@ =S B ge = b or B

Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496344002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FOOET (20T -
1, e w7g e e e

3, WY WEE (2 famerre fon o oEe M

4, MYORIE TFE (2 Tmze 2@E AT B e = 9B o B
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496344003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o ©qeq -
1, 918 =&
3, FEEIE FRIETS o
4, o OEl

Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 36496344003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= BeT -

1, 918 ==

3, SRR FRIETTS SR

4, ol O
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496344004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ferdicn = St O HHite TR 9 IR FRER e e == 3ve?
2, e FIEs
4, TH GCAEEF AT

Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 36496344004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Rt R FEe UF TS e g8 0 GRER e [ a9 §he?
2, FEag AT
4, TF wEOR AT

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496344005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Rl <5 T ) oS SREA T (RRATS W T [ Wl <R R 9w
1, (A4 Tesiva "ﬁ?@ (Product approach to writing)

3, T (FE
4, (743 2 & “ae (Process approach)
Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496344005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
gt 451 T e s 9RaA T (REaDIe W A9 i) <R efme e 9 e T
1, (F47q Tesive jﬁ@?@ (Product approach to writing)

3, S (I
4, (743 =& e (Process approach)
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496344006 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



7 TRES RS T, W, (OTE AW T(E-TE P 42 G TR 3 (R 2
2, Be ATl (Emergent literacy)
4, ol T

Options:

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 36496344006 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

7 TR R TR (@, R, (e W T | @ e e 6 9 i =m
2, B Pl (Emergent literacy)
4, iz 4

Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 36496344007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1, e o=
4, FWITEE TEEA (summative)
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496344007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1, fie o=
4, FWITEE TEEA (summative)
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496344008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o firers 3 <1 o T o7 AT (96 TR <51 O 3 R R TG A AR TR R -
1, %0 el
3, (T T

Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 36496344008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ofs vz o @Bt w1 Tt A7 AR (06 oW B o <1 R ORI e 4d ]| 20 @ -
1, %A 7o
3, (T TS
Options :
1.1
2.2
3.3

4.4

Question Number : 117 Question Id : 36496344009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



férgog ofqefe o7 -
2, TR I G AFpre ~E ke v firwas Srmeman
3, T AR TR FATEETS e SYae wdie @SR we
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496344009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ferzmeg sifeeifie 277 -
2. ORI AT W Sapre iEe e o R Srmeme
3, T AR TR FATEETS e SYae wdie @SR we
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496344010 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT (I 01 2] e P (remedial teaching) 14 =7 -

(@) fommre firsel 7 femmdis i Bafes e forsel

() fom firge 7 Rrmdiee (odes firsom 4 /

() e frt 7w e (odERe frmdivens ga
) S R T8 @ @ e R aefeR  oen (v SveReene JER

|
L (39 (3)
2, () 1% (9)
3, (®) W (%)
4, () o= (%)

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 36496344010 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT (I 01 2] e P (remedial teaching) 14 =7 -

(@) fommre firsel 7 femmdis i Bafes e forsel
() fom firge 7 Rrmdiee (odes firsom 4 /

() e frt 7w e (odERe frmdivens ga
) S R T8 @ @ e R aefeR  oen (v SveReene JER

(4

L

4 4 4 %

L)
f—

¢
A

(4
(

I‘\J
|
T

/‘EI-\/-—-\

3,
4,

=

)
)
)
1)

——

Options :
1.1
2.2

: MCQ Option Shuffling : No



3.3
4.4

Question Number : 119 Question Id : 36496344011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Q5 TR (947 (ieIoR Frmdiveme mTeRie A 9 o (o8 rmidivere v fem, s
T S T AR TS SRt | 2l T Ao (TR0 % RO BRI e A v
9 (RS OIR (7| XU W 3 S PRI R (6 (T RS S
1, % O 3HFH
), feafeies saregq
3, (4697 ¥erEIgR (Categorization)
4, TR @IS (Normative)
Options:
1.1
2.2
3.3

4.4

Question Number : 119 Question Id : 36496344011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
R e (96 AR el ATpEme i o FRE| (o6 irmmdens W, e, 42, T
B ST TR A <o S | ottt Wi Wl (bl * febl< SRItE W S W
IS (IR IR (71| ¥R W 3 SR PRI G20 (G 92 T

1, % O 4HF

), fewfeee s yq

3, (a7 IR (Categorization)

4, TR @IS (Normative)
Options :

1.1



2.2
3.3
4.4

Question Number : 120 Question Id : 36496344012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
s OF T LS iTAl e (Constructivism) T wE @
1, @ o Fieee @EHE
3, Feea o) W sereIfee o

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496344012 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Eee O F T LEiTagh ooy (Constructivism) w <@ @
1, Few aT TfETs EE
2, W Rrmdic v Fifes @
3, R oA U SERITeS ol
4, ForEa AMfETens f[Affe

Options :
1.1
2.2
3.3
4.4



Language II

SectionId: 3649631430
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632572
Question Shuffling Allowed : Yes

Question Id : 36496344013 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Read the passage given below and answer the guestions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

Sub questions

Question Number : 121 Question Id : 36496344014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and select the correct
option.
A. James Watt’s influence was confined to the
invention of the steam engine.
B. James Watt was considered a dullard by his
neighbours.
C. James Watt's delicate health proved a blessing in
disguise.
D. James Watt’s parents were keen to send him abroad.

A'is true and D is false.
Bis true and Cis false.
Both C and D are true.
Cis true and A is false.

P Lk Rt



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496344015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following options is true?

1. James Watt's invention of the steam-engine
foreshadows the industrial revolution.

2. James Watt was a troublesome child.

3. The passage tells us about the influence James
Watt’s father had on him.

4. James Watt received little encouragement from his
teachers.

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496344016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
A. James Watt was rewarded for his efforts by the state
authorities.
B. Watt's father wanted him to become a scientist.

Ais true and B is false.
B is true and A is false.
Both A and B are true.
4. Both A and B are false.

WA N

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496344017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option which is true according to the passage.
A. James Watt left his mark of creativity on different
fields.
B. James Watt had the ability to improve the function
of any kind of machine.
Watt's parents worried a great deal about his health.
D. Watt is considered the father of modern science.

M

A is true and B is false.
Both A and B are false.
Both C and D are true.
A, B and C are all true.

-l i

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496344018 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words has the same meaning as the
word ‘evident’ as used in the passage?

sufficient
clear
similar

4. challenging

il ol

Options :



1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496344019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of ‘delicate’
as used in the passage given below?

crude
robust
flawed

4, favourable

il

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496344020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the phrase
‘decisively influenced its course’?

Adjective
Conjunction
Verb

4. Adverb

el ol

Options :
1.1
2.2
3.3



4.4

Question Number : 128 Question Id : 36496344021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the sentence given below contains an error?
She found it difficult 1o cope up with

(a) (b)

the volume of work assigned to her
(c) (d)
I
2. (d)
3. (b)
4. (a)
Options :
1.1
2.2
3.3
4.4

Question Id : 36496344013 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Read the passage given below and answer the guestions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

Sub questions

Question Number : 121 Question Id : 36496344014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and select the correct
option.
A. James Watt’s influence was confined to the
invention of the steam engine.
B. James Watt was considered a dullard by his
neighbours.
C. James Watt's delicate health proved a blessing in
disguise.
D. James Watt’s parents were keen to send him abroad.

A'is true and D is false.
Bis true and Cis false.
Both C and D are true.
Cis true and A is false.

P Lk Rt



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496344015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following options is true?

1. James Watt's invention of the steam-engine
foreshadows the industrial revolution.

2. James Watt was a troublesome child.

3. The passage tells us about the influence James
Watt’s father had on him.

4. James Watt received little encouragement from his
teachers.

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496344016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
A. James Watt was rewarded for his efforts by the state
authorities.
B. Watt's father wanted him to become a scientist.

Ais true and B is false.
B is true and A is false.
Both A and B are true.
4. Both A and B are false.

WA N

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496344017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option which is true according to the passage.
A. James Watt left his mark of creativity on different
fields.
B. James Watt had the ability to improve the function
of any kind of machine.
Watt's parents worried a great deal about his health.
D. Watt is considered the father of modern science.

M

A is true and B is false.
Both A and B are false.
Both C and D are true.
A, B and C are all true.

-l i

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496344018 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words has the same meaning as the
word ‘evident’ as used in the passage?

sufficient
clear
similar

4. challenging

il ol

Options :



1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496344019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of ‘delicate’
as used in the passage given below?

crude
robust
flawed

4, favourable

il

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496344020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the phrase
‘decisively influenced its course’?

Adjective
Conjunction
Verb

4. Adverb

el ol

Options :
1.1
2.2
3.3



4.4

Question Number : 128 Question Id : 36496344021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the sentence given below contains an error?
She found it difficult 1o cope up with

(a) (b)
the volume of work assigned to her

(c) (d)

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2

Sub-Section Id : 3649632573

Question Shuffling Allowed : Yes

Question Id : 36496344022 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Read the passage given below and answer the questions by choosing
the correct/most appropriate option.

| am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19" century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan'.

Sub questions

Question Number : 129 Question Id : 36496344023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The passage is about

1. alesser known figure in the history of India’s

struggle for independence.

2. awell-known figure who waged a war against the

caste system.

3. a person whose struggle was confined to the
abolition of the Zamindari system.

4. aremarkably famous man who fought against the
harsh and authoritarian British regime.

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 36496344024 Question Type : MCQ Option Shuffling : No

Read the following statements and select the correct

options.

A. It was difficult for the British government to subdue

Birsa Munda.

B. Birsa Munda wanted to save the tribals from the

greedy Britishers.

A is true and B is false.
B is true and A is false.
Both A and B are false.
4. Both A and B are true.

b

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id

: 36496344025 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The author presents Birsa Munda as

an aggressor.
an ambition politician.
a disruptionist.

a patriot.

W L RO e

Options:
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496344026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What pretext did the Zamindars use to prey upon the
tribals?

They were preserving ecology.

They were keeping the social fabric intact.

They were preserving the myths of their society.
4. They were modernising agriculture.

ol e B

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496344027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words has the same meaning as the
word ‘indomitable’ used in the passage?

dominant
dictatorial
predatory
4, brave

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496344028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of the word
‘foreign’ used in para 3 of the passage?

distant
unjust
local

4, native

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496344029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?

He told me that he will not come
(a) (b)
because his mother was not keeping well.
() (d)
1. (a)
2. (b)
3 {e€)
4. (d)
Options :
1.1
2.2
3.3
4.4

Question Id : 36496344022 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Read the passage given below and answer the questions by choosing
the correct/most appropriate option.

| am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19" century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan'.

Sub questions

Question Number : 129 Question Id : 36496344023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The passage is about

1. alesser known figure in the history of India’s

struggle for independence.

2. awell-known figure who waged a war against the

caste system.

3. a person whose struggle was confined to the
abolition of the Zamindari system.

4. aremarkably famous man who fought against the
harsh and authoritarian British regime.

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 36496344024 Question Type : MCQ Option Shuffling : No

Read the following statements and select the correct

options.

A. It was difficult for the British government to subdue

Birsa Munda.

B. Birsa Munda wanted to save the tribals from the

greedy Britishers.

A is true and B is false.
B is true and A is false.
Both A and B are false.
4. Both A and B are true.

b

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id

: 36496344025 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The author presents Birsa Munda as

an aggressor.
an ambition politician.
a disruptionist.

a patriot.

W L RO e

Options:
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496344026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What pretext did the Zamindars use to prey upon the
tribals?

They were preserving ecology.

They were keeping the social fabric intact.

They were preserving the myths of their society.
4. They were modernising agriculture.

ol e B

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496344027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words has the same meaning as the
word ‘indomitable’ used in the passage?

dominant
dictatorial
predatory
4, brave

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496344028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of the word
‘foreign’ used in para 3 of the passage?

distant
unjust
local

4, native

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496344029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?
He told me that he will not come
(a) (b)

because his mother was not keeping well.

(c) (d)

1. (a)
2. (b)
3 {e€)
4. (d)

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632574

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496344030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT true in language learning?

1. Language skills are transferable from one language to another.

2. Every child has the capacity to learn many languages if opportunity and due time is given.
3. Mother tongue interferes the learning of second/foreign language.

4. Mother tongue helps in learning of second/foreign language.

Options:
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496344030 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT true in language learning?

1. Language skills are transferable from one language to another.

2. Every child has the capacity to learn many languages if opportunity and due time is given.
3. Mother tongue interferes the learning of second/foreign language.

4. Mother tongue helps in learning of second/foreign language.

Options:
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496344031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process through which a learner learns reading is

structural and linear
developmental
form focussed

4. language based

.l il e

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496344031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The process through which a learner learns reading is

structural and linear
developmental
form focussed

4. language based

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496344032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a child learns a language as a second or third language, it is assumed as

1. language acquisition
2. language abstraction
3. language growth
4. language learning

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496344032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a child learns a language as a second or third language, it is assumed as

1. language acquisition
2. language abstraction
3. language growth
4. language learning



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496344033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following ways is appropriate with regard to using stories in language classroom?

1. Using stories for moralizing.

2. Stories for teaching some structures.
3. Story telling as a strategy.

4. Teaching story as concepts.

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496344033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following ways is appropriate with regard to using stories in language classroom?

1. Using stories for moralizing.

2. Stories for teaching some structures.
3. Story telling as a strategy.

4. Teaching story as concepts.

Options :
1.1
2.2
3.3



4.4

Question Number : 140 Question Id : 36496344034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher of class [V gave lots of sentences with words like ‘to’ ‘in’ ‘into” ‘with’ for’ and then the learners noficed these
words which the teacher named them as ‘position’ words. Later she gave them some more sentences in which the
learners are asked to write these position words. At the end she told them that these words are known as
‘prepositions’. What is this strategy known as?

1. Grammar teaching
2. Declarative knowledge
3. Consciousness raising
4. Play-way grammar

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496344034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher of class IV gave lots of sentences with words like ‘to’ ‘in’ ‘into” ‘with’ for’ and then the learners noficed these
words which the teacher named them as ‘position’ words. Later she gave them some more sentences in which the
learners are asked to write these position words. At the end she told them that these words are known as
‘prepositions’. What is this strategy known as?

1. Grammar teaching
2. Declarative knowledge
3. Consciousness raising
4. Play-way grammar

Options :
1.1
2.2
3.3



4.4

Question Number : 141 Question Id : 36496344035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does ‘multilingualism as a policy’ mean in school education?

1. All children begin their schooling in their mother tongue/home language and add more languages as they
progress.

2. All children learn in the state language as medium of instruction and learn English and Hindi.

3. All children learn English, state language and Hindi from the foundational stage.

4, Mother tongue as medium for primary level and English as medium for upper primary level,

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496344035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does ‘multilingualism as a policy’ mean in school education?

1. All children begin their schooling in their mother tongue/home language and add more languages as they
progress.

2. All children learn in the state language as medium of instruction and learn English and Hindi.

3. All children learn English, state language and Hindi from the foundational stage.

4, Mother tongue as medium for primary level and English as medium for upper primary level.

Options :
1.1
2.2
3.3
4.4



Question Number : 142 Question Id : 36496344036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the status given to Hindi language in the constitution of India?

National language

Official language
Associate official language
Classical language

P L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496344036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the status given to Hindi language in the constitution of India?

National language

Official language
Associate official language
Classical language

P L B b

Options:
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496344037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Errors of learners during the early years

should be corrected then and there

should not be corrected at all

should be brought to their notice through practice
should be corrected through imposition and drills

e b P

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496344037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Errors of learners during the early years

should be corrected then and there

should not be corrected at all

should be brought to their notice through practice
should be corrected through imposition and drills

e b P

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496344038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher of class V asks her students to discuss in groups about ‘what they like and what they do not like" and then to
note down ideas to write in few sentences. Students noted down their ideas, developed an outline and wrote a
paragraph. What would you call this approach to writing?

1. Product approach to writing

2. Process approach to writing

3. Developing notes as a strategy to writing
4, Personal writing

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496344038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class V asks her students to discuss in groups about ‘what they like and what they do not like” and then to
note down ideas to write in few sentences. Students noted down their ideas, developed an outline and wrote a
paragraph. What would you call this approach to writing?

1. Product approach to writing

2. Process approach to writing

3. Developing notes as a strategy to writing
4. Personal writing

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496344039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher collects the instances of learning and performances of learners and makes a note of them to report in the
assessment record. What is this assessment process known as?

1. Portfolio assessment

2. Summative assessment

3. Comprehensive assessment
4. Non formal assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496344039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher collects the instances of learning and performances of learners and makes a note of them to report in the
assessment record. What is this assessment process known as?

1. Portfolio assessment

2. Summative assessment

3. Comprehensive assessment
4. Non formal assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496344040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following methods of language teaching is learning outcomes focused?

1. Mother tongue based language teaching
2. Competency-based language teaching
3. Communicative language teaching
4. Bilingual method of language teaching
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496344040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following methods of language teaching is learning outcomes focused?

1. Mother tongue based language teaching
2. Competency-based language teaching

3. Communicative language teaching

4. Bilingual method of language teaching

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496344041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher brought utensils and toys from home to teach vocabulary in contextual use. What are these materials known
as?

1. Aids

2. Realia

3. Objects of cooking
4, Thematic vocabulary

Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496344041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher brought utensils and toys from home to teach vocabulary in contextual use. What are these materials known
as?

1. Aids

2. Realia

3. Objects of cooking
4, Thematic vocabulary

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496344042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher divided her class into groups of four and through brain storming and discussions, she assigned the groups
the themes on landscapes, buildings, and persons to collect ideas through questions and write a short report on them.
What is this task known as?

1. Project work

2. Assignment

3. Speaking and writing task
4, Excursion

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496344042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher divided her class into groups of four and through brain storming and discussions, she assigned the groups
the themes on landscapes, buildings, and persons to collect ideas through questions and write a short report on them.
What is this task known as?

1. Project work

2. Assignment

3. Speaking and writing task
4, Excursion

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496344043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher asks her learners of class [l to share in their group about the flowers, grass and plant in their neighbourhood
and on their way to school before teaching the poem, Daffodils. What is she trying to do?

1. Expecting learners to bring daffodils from their neighbourhood.

2. Connecting the previous knowledge with the classroom teaching and knowledge.
3. Brain storming activity

4. Teaching about flowers, landscape for geographical knowledge through postry.

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496344043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asks her learners of class [l to share in their group about the flowers, grass and plant in their neighbourhood
and on their way to school before teaching the poem, Daffodils. What is she trying to do?

1. Expecting learners to bring daffodils from their neighbourhood.

2. Connecting the previous knowledge with the classroom teaching and knowledge.
3. Brain storming activity

4. Teaching about flowers, landscape for geographical knowledge through poetry.

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496344044 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is true of learning languages?

Reading develops before writing.

Learners need to write before reading.

Reading and writing develop concurrently.

First language interferes in the learning of second language.

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496344044 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true of learning languages?

Reading develops before writing.

Learners need to write before reading.

Reading and writing develop concurrently.

First language interferes in the learning of second language.

P Ll B P

Options :
1.1
2.2
3.3
4.4



